
1. y + xcot yx dx − xdy = 0

M1,u = u + cotu

N1,u = −1

 lnx + ∫ −1
u+cotu−u du = c

 lnx − ∫ du
cotu

= c

 lnx − ∫ tanudu = c

 lnx − − lncosu = lnx + lncosu = c

 lnxcosu = c

 xcos
y
x = c1

__________________________________________________________________________

2 x + y2 − xy dy

dx
= y

 −ydx + x + y2 − xy dy = 0

x = vy  v = x
y

Mv, 1 = −1
Nv, 1 = v + 1 − v

 lny + ∫ −1
v+ 1−v −v

dv = c

 lny − ∫ dv

1−v
= c

∫ dv

1−v
= − 2 1 − v

 lny + 2 1 − v = c

1


